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1) PÎFÛFÐPáFP&F¶FWðF] ÒêFWðF] ÜFõÜF =+õÜFP˜F¶Fh Òî˜F¶F]ñÜFõÜFX¸FÞk Ò¼WÜFÛF< 12×4=48

=+) ÎÜFFÜFõF[·FFÎF]õFFÞ¶F: =+: ÎÜFFÜF:? EµæFU‡FFàÑFk ÎÜFFÜFk æÜFF&ÜFFÜF ¶FWÎF EFÎæFUP‡F=+UP¶FèFæ¼õÜF æÜF]¶ÑFP¸F:
ÎÜFFÜFèFFøFõÜF ˜F EFÎæFUP‡F=+U¶æFk ÎÜFFÜFõF[·FÛFæFáFÛæÜF ÒP¶FÑFFÃ¶FFÛFh— 2+10

&F) ÑFPÞðF¼: PæFÚFF;FF¼UÜFÛFFáFX˜ÜF ¶F·F æFFP¼-ÒP¶FæFFP¼-ÒFPî=+FÎFFk =+¶FaæÜFF=+¶FaæÜFPæFðFÜFW ;FZ¶FÛFÛF¶FFÎF]õFFÞk
PæFèFÃ¶FFÛFh— 2+8

;F) =+F =+»FF? ¶F·F õFÛÚFFðFFPæFÍFW: ÒÜFX¡FÎFUÜF¶FF æFµFaµFÑF[æFa=k+ ;FZ¶FÛFÛF¶FW ¶FõÜF PæFÚFF;FF¼UÎFFáFX˜FÎFk
=+¶FaæÜFÛFh—



fF) ¶F=a+õFk;FeùFÎF]õFFÞ¶F: EÎF]ÛFFÎFõÜF P=k+ áF‡FµFÛFh? EÎF]ÛFFÎFõÜF ÚFW¼FÎFFáFX˜ÜF ¶F·F ÎÜFFÜFFæFÜFæFFÎFFk HÑFÜFXP;F¶FF
õFX¼FùÞµFk Ò¼èFaÎFUÜFF—

‘~) HÑFFÍFW: õæFàÑFõÜF ¶F=a+õFk;FeùFÎF]õFFÞ¶F: õFÛÜF;FFáFX˜FÎFk =+¶FaæÜFÛFh—

˜F) =+F æÜFFPÓF:? æÜFFPÓF;FeùXÑFFÜFPæFðFÜFW ¶F=a+õFk;Feù=+FÞõÜF ÛF¶FÛFFáFX˜FÎFUÜFÛFh—

š) iiPæFÛF_èÜF ÑF‡FÒP¶FÑF‡FFÚÜFFÛF»FFaæFÍFFÞµFk PÎFµFaÜF:jj<ÎÜFFÜFõF[·FFµF]õFFÞk õFÛÜF;FFáFX˜ÜF¶FFÛFh—

¡F) šáF¡FF¶ÜFXßÑFÜFX;FX ÜF»FFÜF»Fk ÒP¶FÑFFÃ¶FFÛFh—

2) PÎFÛFÐPáFP&F¶FWðF] ÒîWðF] GaÑõFU¶FõÜF ÒîðF©h=+õÜF H¸FÞk õFÛFFõFWÎF Ò¼WÜFÛFh : 2×6=12

=+) ÎÜFFÜFõF[·Fk =W+ÎF PáFP&F¶FÛFh? EPõÛFÎFh ;FeÎ»FW õF[·FõFk&ÜFF =+P¶F?

&F) ¡FáÑFõÜF P=k+ áF‡FµFÛFh?

;F) õFFÍFÎFÛF]ÑFFáFÛÚFëF =+:?

fF) =+: ¶F=a+:?

‘~) HÑFÎFÜFõÜF áF‡FµFk P=+ÛFh?

˜F) ÎÜFFÜFõF[·FW =+F PæF;F_þõFÛÚFFðFF?

š) EÎF]ÛFFÎFW =+: ÑF‡F: P=+¨F õFFÍÜFÛFh?

¡F) ÑFæFa¶FX æFPûÛFFÎFh ÍF[ÛFFP¼¶ÜF·F õFÑF‡F: =+: =+ëF PæFÑF‡F:?

¤F) ¼_ñFÎ¶FõÜF P=k+ áF‡FµFÛFh?

¦F) ÎÜFFÜFõF[·FõÜF Ò»FÛFk õF[·Fk P=+ÛFh?

—————



Or

Art of Balanced Living

E. EÍFXPÎFP¼añWðF] ˜F¶F]µFFb ÒîFÎFFk õFÛFFÍFFÎFk PæFÍFWÜFÛFh : 12×4=48

1. ÍÜFFÎFk P=+ÛFh? êFUÛF¼hÚF;FæF¼h;FU¶FFÛFæFáFÛÙÜF ÍÜFFÎFÜFX;FõÜF õFFÍFÎFÒµFFáFUÛFh EFáFX˜ÜF¶FFÛFh—

2. iiEF¶ÛFF æFF EÞW ½ñæÜF: êFX¶FæÜF:...jj EÜFÛF]ÑF¼WèF: =+: =k+ ¼¸FæFFÎFh? HÑF¼WèF<

¼FÎF=+FáFW æF…+F ÜF¼h æF¼P¶F ¶F¼h EFáFX˜ÜF¶FFÛFh—

3. iiE»F ÜFX;FFÎF]èFFõFÎFÛFhjj GP¶F EFáFX˜ÜF¶FFÛFh—

4. ÜFX;FõF[·FFÎF]õFFÞk õFÛFFPÍFPæFðFÜFW æÜFF&ÜFFÜF¶FFÛFh—

5. êFUÛF¼hÚF;FæF¼h;FU¶FFÜFFëF¶F]»FFaÍÜFFÜFõÜF PæFðFÜF: õFk‡FWÑFWµFFáFX˜ÜF¶FFÛFh—

6. iiæF_¸FÜF: ÑF¨F¶FÜÜF: Pˆ+ñFNPˆ+ñF:jj EFáFX˜ÜF¶FFÛFh—

7. ©U=+F áFW&ÜFF

(i) PÎFð=+FÛF=+ÛFa

(ii) ÛFÎFÎFÛFh—

8. æÜFF&ÜFF =+FÜFFa

(i) PÎFÜF¶Fk =]+ß =+ÛFa ¶æFk =+ÛFa ¡ÜFFÜFX ùhÜF=+ÛFaµF:—
èFÞUÞÜFF·FFPÑF ˜F ¶FW ÎF ÒPõFÊhÜFX¼=+ÛFaµF:ÿ

(ii) ¼_ñFÎF]êFPæF=+PæFðFÜFPæF¶F_ðµFõÜF æFèFU=+FÞõFk£FF æFYÞF;ÜFÛFhÿ

EF. EÍFXPáFP&F¶FWðF] ðF©hÒîFÎFFk õFÛFFÍFFÎFk PæFÍFWÜFÛFh : 2×6=12

1. EF¶ÛFP¡F£FFõF]-æÜFP…+: =+»FÛFh EF¶ÛF¼èFaÎFk =+ÞXP¶F?

2. E»FaæFF¼õæFàÑFk P=+ÛFh?



3. iiHÑFPÎFðF¼hjj GP¶F èFÙ¼õÜF æÜF]¶ÑFP¸F: =+F? æF_ù¼FÞµÜF=+XÑFPÎFðFP¼ =+P¶F EÍÜFFÜFF:?

4. æF_ù¼FÞµÜF=+XÑFPÎFðF¼: ÛF]&ÜF ©U=+F=+FÞ: =+:? ¶FõÜF ©U=+FÜFF ÎFFÛF P=+ÛFh?

5. ÜFX;F: =+:?

6. ÒFµFFÜFFÛF: =+:?

7. P=k+ ÎFFÛF ÍÜFFÎFÛFh?

8. =+õÛFFÎFh ÛFÎF]ðÜF: ‡FµFÛFÑÜF=+ÛFa=_+ÏF P·FòP¶F?

9. ;FU¶FFÜFF: ðFX°èFFÍÜFFÜFõÜF ÎFFÛF P=+ÛFPõ¶F?

10. =+ÛFaÜFX;F: =+: ÚFæFP¶F?




